) \.:-P": THE VILLAGE CH 5 ARITHMETIC PROGRESSIONS

% et “We Nurture Dreams

pultiple Choice Questions {1 mark each)
1. The value of # for which the nth term of AP's 3, 10, 17, ... and 63, 65, 67, ..... are
equal is '
{a) 10 {bi 12 fch 13 (dy 14
2. The first and last term ol an AP are ¢ and { and sum of the AP is 8, then the common
2
dilference is — %, Here kis vqual 1o
—(f +et}
(a) s ib) 25 {c) 35 () None of these

3. The value of x for which 3x, (x+8}and(5x +2)are three consccutive terms of an AP
is

7 7 3 3

L i = dy -2

k=3 th]3 {c}? (d} 7

4, The digits of a positive integer, having three digits arc In AP and their sumis 15. The
number obtained by reversing the digits is 594 less than the original number. The

number is
(a) 594 (hy 852 [c) 849 fdy 952
Short Answer Type (I} Questions (2 marks each)
5. Which term of the AP 3,15, 27, 39, ... will be 120 more than its 2 1st term?
6. Find the &th term from the end of the AP 17, 14, | R , =40,

7 If four numbers in AP are such that their sum is 50 and the greatest number is
4 1imes the least, then find the numbers.

8. Write the expression a, —a, forthe AP a.«¢ +d,a+2d, ...

Hence, find the common dilference of the AP for which 25th term is 10 more than
the 23rd term.

. 9 Find the sum of all ratural numbers between 200 and 1502 which are exactly
divisible by 3.

10. Puneet saved 2 12 in the first week of a year and then increased his weekly saving by
% {.75. [[in the nth week, his weekly saving become 3 20.75, then find the value of #.

Short Answer Type (II) Questions (3 marks each)
11. Find the sum ol 1 terms of the sequence {«a,}, where @, =3-6n, HeN.

12. How many terms of the AP -6, - g , =5, ... are needed to give the sum - 257

13. The 8th term of an AP is zero, Prove that its 38th term is triple its 18th term,

14. Which term of the progression 19, IEEI A7 %. ... is the first negative term?



Long Answer Type Questions (5 marks each)

15. The sum of third and the seventh term of an AP is 6 and their product is 8. Find the
sum of first sixteen terms of the AP

16. The ratio of the sum of 12 terms of two AP's is (512 + 1) : (2n +17). Find the ratio of their
nith terms.

Answers
L © 2. (D 3. (b) 4. (b) 5. 31st term
6. —19 7.5.10,15,20 8.5 9. 369117 10. n=6
11. n @ -3n) 12. 50r20 14. 25thterm  15. Whend = %.320 —76: Whend = ‘?1.320 =20

16. (10m - 4): (4m + 15)




